ISSUE (Non-candidate) ADVERTISEMENT AGREEMENT FORM

I, William B Chism, hereby request station time as follows: See Order for proposed
schedule and charges. See Invoice for actual schedule and charges.
Check one:
Ad "communicates a message relating to any political matter of national importance" by referring to (1) a legally qualified candidate for federal office; (2) an election to federal office; (3) a national legislative issue of public importance (e.g., health care legislation, IRS tax code, etc.); or (4) a political issue that is the subject of controversy or discussion at the national level.
Ad does NOT communicate a message relating to any political matter of national importance (e.g., relates only to a state or local issue).
ALL QUESTIONS/BLOCKS MUST BE COMPLETED
Station time requested by:
Agency name: Chism Strategies Address: 305 Green Oak Lane Madison, MS 39110 Contact: Blad Chism Phone number: 601, 918,4563 Email: brado Chism stratgies com
Name of advertiser/sponsor (list entity's full legal name as disclosed to the Federal Election Commission [for federal committees] with no acronyms; name must match the sponsorship ID in ad):
Address: POBOLIO38 Tackson WS 39215 Contact: BRACKSON Phone number: 6019184563 Email: bradech is not Not affects. Sitation is authorized to announce the time as paid for by such person or entity.
ist ALL of the chief executive officers or members of the executive committee or board of directors or other governing proup(s) of the advertiser/sponsor (Use separate page if necessary.):
Lance Stevens
By signing below, advertiser/sponsor represents that those listed above are the only executive officers, members of the executive committee and board of directors or other governing group(s).
f ad refers to a federal candidate(s) or federal election, list ALL of the following:
Name(s) of every candidate referred to:
Office(s) sought by such candidate(s) (no acronyms or abbreviations):
Date of election:
Clearly identify EVERY political matter of national importance referred to in the d (no acronyms); use separate page if necessary:

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.											
The advertiser/sponsor agrees to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, which may arise from the broadcast of the above-requested advertisement(s). For the above-requested ad(s), the advertiser/sponsor also agrees to prepare a script, transcript or tape, which will be delivered to the station by the log deadlines outlined in the station's disclosure statement.											
Advertiser/Sponsor		Station Represen	lative /								
Signature: William BChi	1	Signature:	30								
Name: William BChi	Sa		nek Gordon								
Date of Request to Purchase Ad Time:	10/12/2020	Date of Station Ag	reement to Sell Time:								
TO BE COMPLETED BY STATION ONLY											
Ad submitted to station?	No	Date ad received:	10/14/20								
Note: Must have separate PB-19 form	ns for each version	of the ad (i.e., for e	very ad with differing copy).								
If only one officer, executive committee in writing if there are any other officers update this form if additional officers, r	, executive committe	ee members or direc									
Disposition:											
Accepted											
Accepted IN PART (e.g., ad not n	eceived to determine	content)*									
*Upload partially accepted form, then pro	omptly upload update	ed final form when co	mplete.								
Date and nature of follow-ups, if any:											
Contract #: 1/20 4-00002	Station Call Letters: WTKN	n-FM	Date Received/Requested:								
Est. #:	Station Location:		Run Start and End Dates:								
	meridia		10/20-11/2/20								
For national issue ads only (not require											
Upload order, this disclosure form and to the OPIF or use this space to docum and the classes of time purchased (incluattach separately. If station will not uplo contact person who can provide that in in the OPIF.	ent schedule of time uding date, time, cla pad the actual times	e purchased, when s less of time and reaso spots aired until an	pots actually aired, the rates charged ons for any make-goods or rebates) or invoice is generated, the name of a								

_	K-FM 97.1)-FM 101.3) WJXM-FN) WYHL-AN) WZKS-FM	1 1450]			Sal	les	0	<u>de</u>	<u>r</u>			Date	10/1	4/20	020]
☐ NEW	ACCOUNT									Çus	New O tomei LOCAL	Тур	e:	Ad	ddition	LITICAL		Revise	
Advertis	ser:		1995 F	or	The	4,2	ı		REGIO					ADE					
(Agency) Customer: Chism Strategies NATIONAL														0					
Send In		o: Sales Rep: Chiel Gov for																	
Address	30 E Green GAV I A AVE Agency Discount									1									
City:			mA	DISCN					ł		ng Tyl		parameter,	STANE	DARD	[v] (ALFN	IDAR	ł
State:		Esament.	m		Zip:		39110	'n	ł		.9 .)		=	DEMAI			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	(D) (IC	
Contact				THE RESERVE AND ADDRESS OF THE PERSON	Chism	_	2111		ı	Co-	Op De	scrir							
Phone:				V	C. (/)./ (ł	Nota		,00116		YES		NO			i
	Enter Ou	r Order f	or Adver	tisina As	Follows				ı			"N" 1			"G" for	Gross		G	ł
1 10000		order i	or maver	iong 710	1 Ollows					<u> </u>	intoi	11	01 14	51 01	0 101	01033		G	1
Cart#	LENGTH	START	END	BEGIN	END		RATE		12.360		HEDU	JLE	40-1			TOTA	L,		
Januar		DATE	DATE	TIME	TIME			Mon	Tue	Wed	Thu	Fri	Sat	Sun	WKS	#ANNS	DC	LLARS	
	60	10/20/2020	10/25/2020	6A	10P	\$	27.00		3	3	3	3	3	3	1	18	\$	486.00	
	60	10/20/2020	10/25/2020	10p	3р	-	17.00		3	3	3	3	3	3	1	18	\$	306.00	1
	60	10/20/2020	10/25/2020	3р	7p	-	27.00	_	5	5	5	5	3	3	1	26		702.00	
7	60	10/26/2020	11/1/2020	6a	10p	_	27.00	5	5	5	5	5	3	3	1	31		837.00	1
	60	10/26/2020	11/1/2020	10a	3р	-	17.00	6	6	6	6	6	5	4	1	39		663.00	
	60	10/26/2020	11/1/2020	3р	7p	_	27.00	6	6	6	6	6	5	4	1	39		1,053.00	1
	60	10/26/2020	11/1/2020	7p	mid	-	27.00	6	6	6	6	6	6	6	1	42		1,134.00	-
	60 60	11/2/2020	11/2/2020	6a	10a	_	27.00	5		-			-		1	4	<u> </u>	108.00	1
	60	11/2/2020	11/2/2020	10a	3p	_	17.00 27.00	6	-	├	-				1	6	\$	102.00	ł
	00	11/2/2020	11/2/2020	3р	7p	φ	27.00	-	-	_					1	0		108.00	ł
						-			_	<u> </u>						0			
						 		 		<u> </u>						0			
																0	\$	_	1
																	\$	-	
Comment	s:							-											1
									TOT	A 1 A 1	NO			NET		☐ REMO			i
									101	AL AN	INS	227	l	NET GRC		\$		4,674.15 5,499.00	
MONTH NET	JAN	FEB	MAR	APR	MAY	J	IUNE	JU	LY	Al	JG	SE	PT	C	CT	NOV		DEC	TOTAL 0
GROSS																			0
#ANNS																			0
Federal Commu	nications Commi	ssion (FCC) requi	ations require that	t radio stations	and radio advert	isers	and advertisi	ng agenci	es not di	scriminat	in the sa	le or nur	chase of	dvertisin	n time Acco	rdingly, we have be	en rea	ired by the ECC	C to request
that you certify the This station do	he following state es not discrimir	ement (we apprec	iate your understa	anding and coope	eration): ept no advertisi	ng wh	nich is place	d with ar	n intent	to discrir	ninate on	the bas	s of race	, gender	or ethnicity.	Advertiser hereb			
1. This offer bec	omes a binding o	contract upon acco	eptance by Gener	al Manager of S	tations or his aut	horize	ed agent												
3. Station shall h	ave the right to o	cancel this contract	payable within te ct upon default by event legal action	advertiser in the	e payment of bills	and	other materia	als breach	. Upon						nd not paid sh	all become immedi	ately du	e and payable	at the earned
			on thirty (30) days			-cittel	or any or tr	.o contro t											
		vertising-cash in a		200000000000000000000000000000000000000															
Account E	xecutive:									Adve	rtiser:								
Accepted	For Statio									Title:	!					Date:			

WJXM-FM P O Box 1699 3436 Hwy 45 N Meridian, MS 39302-1699

601-693-2661

Client: Order #: MISSISSIPPIANS FOR JUSTICE 11204-00002

Description:

Date Entered:

10/12/2020

P.O.#:

GORDON, CHUCK Salesperson:

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date Notary Req'd

CHISOM STRATEGIES 305 GREEN OAK LANE MADISON, MS 39110

On-Air Schedule

	Start Date	End Date	Station	Scheduled	Tir	ne/Event	Repeated	Length	Qty	Rate	<u>Total</u>	$\underline{\boldsymbol{M}}$	Tu	$\underline{\mathbf{W}}$	<u>Th</u>	$\underline{\mathbf{F}}$	<u>Sa</u>	Su
1	10/20/2020	10/25/2020	WJXM-FM	06:00:00a	to	10:00:00a	Weekly	1:00	18	27.00	486.00	0	3	3	3	3	3	3
2	10/20/2020	10/25/2020	WJXM-FM	10:00:00a	to	03:00:00p	Weekly	1:00	18	17.00	306.00	0	3	3	3	3	3	3
3	10/20/2020	10/25/2020	WJXM-FM	03:00:00p	to	07:00:00p	Weekly	1:00	26	27.00	702.00	0	5	5	5	5	3	3
4	10/26/2020	11/1/2020	WJXM-FM	06:00:00a	to	10:00:00a	Weekly	1:00	31	27.00	837.00	5	5	5	5	5	3	3
5	10/26/2020	11/1/2020	WJXM-FM	10:00:00a	to	03:00:00p	Weekly	1:00	39	17.00	663.00	6	6	6	6	6	5	4
6	10/26/2020	11/1/2020	WJXM-FM	03:00:00p	to	07:00:00p	Weekly	1:00	39	27.00	1053.00	6	6	6	6	6	5	4
7	11/2/2020	11/2/2020	WJXM-FM	06:00:00a	to	10:00:00a	Weekly	1:00	4	27.00	108.00	4	0	0	0	0	0	0
8	11/2/2020	11/2/2020	WJXM-FM	03:00:00p	to	07:00:00p	Weekly	1:00	4	27.00	108.00	4	0	0	0	0	0	0
9	10/26/2020	11/1/2020	WJXM-FM	07:00:00p	to	12:00:00a	Weekly	1:00	42	27.00	1134.00	6	6	6	6	6	6	6
10	11/2/2020	11/2/2020	WJXM-FM	10:00:00a	to	03:00:00p	Weekly	1:00	6	17.00	102.00	6	0	0	0	0	0	0

Spots: 227

Total Charges:

\$5,499.00

Combined Discounts:

\$824.85

Total Net:

\$4,674.15

Projected Calendar Month/End-Of-Schedule Billing Totals for MISSISSIPPIANS FOR JUSTICE / 11204 -00002 :

_	Total:		227	\$5,499.00	\$824.85	\$4,674.15
	November	2020	31	\$737.00	\$110.55	\$626.45
	October	2020	196	\$4,762.00	\$714.30	\$4,047.70
			Spot Count	Gross Billing	Combined Disc.	Net Billing

Confirmed & Accepted for WJXM-FM By:

Accepted for CHISOM STRATEGIES By: